T. Y. B. Com
Business Economics

P - 111 _
i.\pil;ir201)4 S QP Code : AE-7029

(FOR OLD AND FOR IDOL CANDIDATES)

(3 Hours) " [ Total Marks : 100

N.B.: (1) Attempt any five questions, with a minimum of twe questions from each section.

fu—y
.

(2) Figures to the right indicate full marks.
(3) Answer to both the sections should be written in the same answer book.

SECTION -1
Explain the bankihg sector reforms introduced in India since 1991. 2
(a) Discuss RBI’s short term liquidity management. 10
(b) Discuss the measures for promotion of composite credit in India. , 10
(a) Outline the components of organised segment of Indian money market. 10
(b) Discuss the importance of mutual funds. 10
Write explanatory notes (any two) :— 20

(a) Assets of a commercial bank

(b) Performance of SHGs in India
(¢c) Features of Indian money market
(d) Equity market.

SECTION - 11
(a) Explain the classification of public expenditure. 10
(b) Discuss the limitations of the FRBM Act, 2003. o : 10

(a) Explain the non-monetary measures to correct disequilibrium in balance of 10

payments. i ‘
(b) Discuss WTO agreements with reference to TRIMs and GATS. 10
(a) Explain the functions and dealers of foreign exchange market. 10
(b) Discuss purchasing power parity theory of exchange rate. 10
Write explanatory notes (any two) :— : o 20

(a) Changing trends in tax and non-tax revenue in Indla
(b) Burden of internal debt

(c) Causes of disequilibrium in balance of payments
(d) Spot and forward exchange rates.
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T. Y. B. Com
Commerce
Marketmg and Human Resource Manag@ment

(Pa|_oer - lI)(REVISED COURSE-OLD PATTERN) QP Code: AE-6950
April : 2014 (3 Hours) [Total Marks : 100

N.B.: (1) All questions are compulsory.
(2) Answers to both the sections should be written in same answerbook.
(3) Figures to the right indicate full marks.

Section I
1. Define Marketing. Explain the scope of Marketing. 10
What is MIS ? Dis?ul:s the importance of MIS to business organisations. 10
2. What is consumer behaviour ? Explain the factors influencing consumer behaviour. 10
Define Market Seg?nl:ntation. Briefly describe the bases of Market Segmentation. 10
3. What is Brand Positioning ? Explain the Brand positioning strategies. 10
What is Pricing ? ]g(l;lain the factors inﬂuenc?ing pricing. | 10
4. What is Services marketing ? Explain its features. 10
OR

What is rural marketing ? Explain the factors responsible for the growth of rural marketing in India. 10

5. Write short notes on (any two) -— 10

(a) Market opportunity analysis '

(b) Techniques of CRM

(c) Role of advertising

(d) Internet Marketing.

| OR :

Case study :— 10
Read the following case and answer the questions given below :—

For Adidas, London is a key focus for sportswear market, for both performance
sportswear and sports fashion. This market sets more trend than anywhere else in
the country. London Olympics 2012 gave Adidas a platform to target this audience
with a global reach. The sponsorship deal obtained by Adidas was the broadest set
of sportswear rights in Olympic history. It became the official sportswear partner of -
the London games and the exclusive Licensee of all branded and event branded clothing —
From these rights Adidas set four key marketing objectives :
e To ensure clear association as sportswear partner
e To engage and excite the 14-19 year old audience in order to drive brand
preference in UK.
To deliver a licensed product return on Investment.
To become the most talked sports brand in 2012.
Q. 1. How did Adidas rose to a global reach ?

Q 2. Explainrole of brand positioning in developing Adidas as global brand -
[TURN OVER
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5 QP Code : AE-6950

Section 11
6. Define HRM. Explain the functions of HRM. : 10
' OR _
What is recruitment ? Discuss steps in selection procedure. 10
7. Define HRD. Explain scope of HRD. v 10
OR

What is performance appraisal ? Explain the various techniques of performance appraisal. 10

8. Define Leadership. Explain traits of an effective leader. 10

_ OR

What is employee morale ? Discuss the importance of employee morale. 10

9. What is HR Audit ? Explain its scope. | 10
OR

What is Team Building ? Explain the importance of team building. 10

10. Write short notes on (any two) :(— | : 10

(a) Induction..
(b) Employee retention
(c) McGregor’s Theory of motivation
(d) Employee participation and empowerment.
OR
Case study :— 10
Read the following case and answer the question given below :—
Aakash Industry is producing electrical goods. Recently they introduced electrical
motors. It needed one Electrical Engineer to look after the new plant. The company
advertised for the post of Chief Engineer where existing engineers were also allowed
to apply. '
The company-used the techniques of preliminary interviews, tests and final interview
and finally selected Mr. Sastri, employeed in the existing plant of the company being
fourth in the list of Assistant Engineers.
The co. served the appointment order to Mr. Sastri as Chief Engineer and he joined.
" But his other three seniors in the existing plant moved the court of Law contesting
that the selection of Mr. Sastri is not valid as he is not the senior among the assistant
engineers in the existing plant. '
Questions :—
(a) What would be the management version in this case ?
(b) Isit a case of selection or promotion ? Justify.

‘ [TURN OVER
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T. Y.'B. Com
Export Marketing
April : 2014

(REVISED COURSE-OLD PATTERN) QP Code : AE- 7048

5

[For Regular students] 2% Hours ' [Total Marks : 80
[For IDOL Students] 3 Hours [Total Marks : 100

N.B.: (1) Only college students admitted upto the year 2010-11, should attempt
‘Section - I for 80 marks; 2% hours duration.
(2) Students of IDOL should attempt Section - I and Section - II for 3 hours duration
of 100 marks.
(3) Figures to the right indicate full marks.

Section - I
1. Explain the following terms/concepts in about 30 words (any eight) :— 16
(a) Skimming pricing (b) Red clause letter of credit
(¢) . Dumping (d) Direction of exports
(¢) Lines of credit () SAARC
(g) TRIMs (h) Seed capital
- (i) Marginal costing (i) Let Export Order
(k) Working capital () Give full form of (i) MFN (ii) ASEAN
2. Answer any two from the followihg - 16

(a) What is export marketing ? Explain its features.

(b) Discuss various problems faced by Indian exporter in the international market.
(c) Explain any 4 tariff and 4 non tariff barriers.

(d) Write a note on ‘European Union’. '

3. Answer any two from the following :— 16
(a) Explain in brief various factors for selecting foreign markets.
(b) Explain various functions of Export Promotion Councils.
(c) Discuss the role of ITFT.
(d) prlam f‘ae h}ghhghts of FTP 2009— 14

4. Answer any two from the following - | 16
(a) From the following data calculate minimum FOB price and the price to be
quoted in US$ if 1 US $ = T 60/-

Particulars Amt. in (%)
Ex.Factory cost 30,000
Loading expenses 8,000
Packing charges 12,000

Profit earned 10% of FOB cost.
Duty drawback 10% of FOB price.

TURN OVER
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6 QP Code : AE-7048

Read the following case and answer the quest1ons given below :—

Soham Private Ltd. has decided to enter the mosquito repellent foreign market.
They are to introduce the product with new technology which will not requrie
any coils, smoke or any liquid. It will be in a form of battery to be plugged in.
It will cover a wide area. Your agency has been appointed to handle the
advertising campaign. :

Questions :—

(i) How will you position the product in the international market ?

(i) What will be your media strategy for the said product for the international

market ?
Distinguish between FOB price and C.LF. price.
Explain the role of commercial bank in export-financing.

5. Answer any two from the following :—

(a)

(b)

()
(@

Explain the registration formalities under export procedure.
Discuss the procedure for acquiring Marine Insurance Policy.
Explain in brief various incentives available to Indian exporter.
Write importance of (i) Mate’s Receipt  (ii) Consular Invoice.

Section 11

(For IDOL students only)

6. Write notes on any four of the following :-

(a)
(b)
(c)
(d)
(e)
(D

Exim Bank

NAFTA

Product Life Cycle

Indian Council of Arbitration
Indirect Exporting
Deemed Exports.

TURN OVER
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T.Y.B.Com
‘Marketing Research
April : 2014 | 5
(REVISED COURSE-OLD PATTERN) QP Code: AE-7120

(2% / 3Hours) [Total Maks : 80/100

* N.B.: (1) All questions are compulsory

~ (2) Regular Students prior to academic year 2011-12 should answer only '

Section I of 80 marks in 2% hours
(3) IDOL and other students should answer both the sections within 3 hours
- for 100 marks

Section I

1. Explain briefly the foilowing terms (any eight) :—

(a)  Sales research (g) Structured interview
- (b) Census (h) Coding

(¢) Mail Interview (i)  Shop audit

(d) Bibliography » ()  Garbage analysis

(¢) Primary data - (k) Oral report

(f)  Dealer Survey

2. Anser any Two of the following :—-
(a)  Explain the merits of marketing research
(b) Explain the importance of marketing information system.
(c)  What is the scope of product research.

3. Answer any Two of the following :—
(a) Explain the need of motivation research
(b) Discuss the merits of mail interview
(c) Distinguish between primary and secondary data.

4. Answer any Two of the following :—
(a) ‘What are the essentiais of a good questionnaire?
(b)  Explain the different methods of tabulation.
(c) Explain the contents of a research report.

5. Answer any Two of the following :—
(a) What are the merits of a seperate marketing research department?
(b) Explain the problems of rural marketing.
(c) Whatis the role of marketing research in international marketing?

16

16

16

16

16
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6 QP Code : AE-7120

Section II
(For IDOL Students only)

6. Write notes on any Four of the following :— 20
(a) Market research :
(b) Testmarketing
(c) EventMarketing
(d) Professional ethics
(e) Surveymethod
(f) Non - Probability sampiing.
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T.Y. B. Com

- Direct and Indirect Taxes (Old) (Rev )

April : 2014

QP Code : AE-7072

(REVISED COURSE - OLD PATTERN)

Section : I & II (2% Hours) . [ Total Marks : 80
Secton : L, II & II (2 Hours) ' [ Total Marks : 100
N.B.: (1) The Revised Course (Old Pattern) is Applicable to the Regular College
Students enrolled during the Academic Year 2006-07 to Academic Ycar
2010-11. They shall attempt Section I and Section II carrying 80 marks.
The duration of the paper is 2% hours for such students. (Section III
shall not be attempted by such students).
The Revised Course {(Qld Pattern) is also applicable to the Regular
Students Enrolled during the Academic Year 2005-06 or earlier and
all the IDOL students. They shall attempt Section I, IT and III for 100
marks. The duration of the paper is 3 hours for such students.
(2) Question No. 1 and Question No. 2 are Compulsory. Attempt any one
question from question no. 3 to 5 from Section L
(3) All questions in Section II and Section III are Compulsory.
(4) Figures in bracket to the right indicate full marks.
«(5) Answer to all the sections shall be written in the same Answer book.
1. Mr. Surendra is the proprietor of a business. Following is thé Profit and Loss A/c 16
for the year ended 315 March 2013.
Particulars Rs. | Particulars - Rs.
To Salaries 24,000 | By Gross profit B/d 2,51,200
To Proprietor’s salary 12,000 | By Interest on government Securities | 12,000
To General exp. 11,000 | By Divident from Indian Companies 3,850
‘To Bad debts 3,000 | By Interest on post office saving Bank A/e] 2,950
To Advertisement 8,400 | By Winning from camel race 24,000
To Fire insurance premium 3,600 -
To Depreciation 7,800
To Motor car exp 3,000
To Donation 5,000
To Sales Tax 29,000
To Interest on proprietor’s capital | 2,800
To Provision for contingencies 10,000
To Income Tax 8,800
To Life insurance premium 8,000
To Net profit 1,57,600
-' 2,94,000 2,94,000
Con. 5069-14. [ TURN OVER
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He is severely handicapped to the extent of 85%).
General expenses include personal expense of Rs. 2000
Depreciation was found to be in excess by Rs. 3000 as per Income Tax Act.

Advertisement expenses include Rs. 1500 for sponsoring sports activities amongst
his employees.

Out Of Sales Tax debited to Profit And Loss A/c an amount of Rs. 4500 is not paid
till date of filling Income Tax Return

Winning from camel race is after T.D.S of Rs. 6000.

Compute the net taxable income of Mr. Surendra for Assessment Year 2013-2014.

2. (a) Fill in the blanks and rewrite the complete sentences :—

(1) Deduction for bonus or commission of employee is allowed only on
basis even if books of account are maintained on the mercantile basis.

(2) Any gift received by an individual from his relative is fully ——.

3) means any profits or gains arising from the transfer of a capital assets.

(4) A person by whom any tax is payable under the actis known as an

(5) Total deduction w/s 80C and u/s 80CCC cannot exceed Rs. ———

(6) Deduction w/s 80 DD in respect of maintenance of a hand1capped dependent is
allowed to or only.

(b) Match the following columns and rewrite the complete sentences :—

Column A Column B
« Taxable gift to non relatives -« Deduction from salary
» Depreciation of house property * Exempt u/s 10(1)
* Agricultural Income » Exempt from tax
* Net Annual Value
Income from H.P.
-« Dividend from domestic company « Exeeding Rs. 5,00,000

~» Professional Tax - Zero for one SOP

3. Mr. Sharad works with City Bank Ltd. as Marketing Manager. He gives you following
information for the year ended 31%* March, 2013.
(1) Basic Salary (Gross) Rs. 4,80,000 per annum.
(2) Dearness Allowance Rs. 1,20,000 per annum.
(3) Advance Salary Rs. 1,00,000.
(4) Entertainment Allowance Rs. 10,000.
(5) Commission on Sales Rs. 76,000 per annum.
(6) Travelling Allowance (Amount spent on Traveling for official purposes Rs, 38,000)

Rs. 48,000 per annum.

(7) Profession Tax deducted from Salary Rs. 2,500 per annum.

12
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Other Information :—

He received following sums from Tata Motors Ltd.
Rs. 40,000 as dividend on Equity Shares.

Rs. 22,000 as interest on Debentures.

QP Code : AE-7072

- He had spent Rs. 65,000 on Medical treatment of his dependent handicapped brother

(45% disability).

He had taken loan from Bank of India for higher education of his son who is pursuing
an Engineering degree with Pune University. During the year, he paid Rs. 72,000 as

interest on this load.

Compute his taxable income for the Assessment Year 2013-14.

4. Mr. Sanjay Shukla furnishes the following. information of his Income and Investmentsfor 12
the previous year 2012-13 :— ‘
(a) Information regarding his House Property :—
Particulars House I (Let Out) House IT (SOP)
Rs. Rs.
Rair Rent 1,80,000 per annum | 1,50,000 per annum
Gross Municipal Valuation 1,90,000 per annum | 1,40,000 per annum
Rent Received 2,00,000 per annum | —
Municipal Taxes : |
-(a) Paid by the tenant 10,000 -
(b) Paid by the owner 15,000 12,000
Interest (Due but not paid) on
Capital bofrowed for construction 20,000 120,000
of House Property '
(b) Other Information :—
(1) Hereceived interest on Debentures in T & L Ltd. Rs. 20,000.
(2) Hereceived Dividend from Mutual Rund Rs. 8,000.
(3) He paid premium of Rs. 30,000 towards approved pension plan of LIC of
India and Rs. 4,000 as interest on higher education loan.
Compute the Net Taxable Income of Mr. Sanjay Shukla for the Assessment Year
2013-14.
Con. 5069-14. [ TURN OVER
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5. {a) Mr. Ganesh an Indian Citizen, left India for the first time on 22-09-2012 for 12
employment in U.K. and did not return to India till 3 15t March, 2013. Determine his
residential status for the Assessment Year 2013-14.

(b) Shri Hemant owns a residential house which he purchased on 25-06-1978 for Rs.
1,50,000. He incurred expenses of Rs. 50,000 towards Cost of Improvement during
1983-84 for this residential house. "

The fair market value of the house on 01-04-1981 was Rs. 2,00,000.
‘He sold this house on 12-12-2012 for Rs. 45,00,000.

He purchased a new residential house for Rs. 25,00,000 on 20-03-2013.

The Cost Inflation Index for financial year 1981-82 is 100, for financial year 1983-
84 is 116 and for financial year 2012-13 is 852.

You are required to compute the Taxable Capital Gains for the Assessment Year 2013-
14.

SECTIONTI
6. State with reasons whether the following activities are part of Taxable Services ornot:— 10
(a) Contract of “painting” of a building.
(b) Renting of Immovable Property to a Religious Body.
(c) Shooting of Film in a rented studio premises.
(d) Commercial Training Center imparting skill or knowledge to students
(¢) A Commission Agent working for the sale of groundnut.
v OR
6. (a) Choose the correct option and rewrite the statement :— 5
(i) Service taxis levied atthe point of
» Distribution '
 Consumption
-+ Construction
(ii) Business Auxiliary Services became taxable w.e.f.
* 1-7-2003
« 16-10-1998
+ 1-6-2007
(iii) “Renting of Immovable Property includes ——
« Licensing
« Leasing
« Both the above
(iv) Return of Service Taxhasto be filed by an individual
» Yearly
» Half Yearly
« Monthly
(v) Service Tax Law is govemed by ——
» The Service Tax Act
» The Income Tax Act
« Chapter V of the Finance Act 1994

| [ TURN OVER
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.. (b) Matchthe columns and rewrite the statement :— | 5
Column A Column B

« Free Services provided » Taxable Service

» Due date for filing service tax Returns * Jammu and Kashmir

» Service tax is , * Not taxable

. Mandap Keeper "+ 25th of the month following
= Service Tax is not applicable to the particular half year

» Indirect Tax

e Direct Tax

Mr. Mandavkar provides mandap keeping services and liable to service tax.You are 10

‘required to find out the amount of service tax liability Jrom the following particulars:—

Particulars

Rs.

1 Receipts from Wedding Receptions

2 Receipts from Catering Services

3 Music System hire charges (Rent)

4 Receipts from Supply of flower.s

5 Receipts from charges of stage decorations

6 Receipts from Rent of tables, chairs etc.

7 Hire charges for making mandap for Bank Of India
8 Hire charges for making mandap at RBI Office

5,00,000
3,00,000
50,000
20,000
50,000
1,00,000
35,000
20,000

OR

New Building Contractor who have opted for com; osition scheme have given the 10
following Transactions for April 2013. Compute the value of taxable services.

Particulars

Rs.

1 Labour charges for execution of work

2 Municipal taxes paid to local authority

3 Consumable stores

4 Hire charges for Generator

5 VAT

6 Service tax paid onhire charges of Generator
7 Recovery of Architect’s Fees

8 Cost of paint supplied

12,00,000
10,000
25,000
15,000

100
50
20,000
40,000

Con. 5069-14.
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Explain, with reasons, whether the following are ‘Goods’as per the provisions 10
of the Maharashtra Value Added Tax Act, 2002. ’

(a) Newspapers

(b) Mango Trees

(¢) Equity Share of Siemens Ltd.

(d) Residential Flat used for business

(e) MalaiKulfi

OR
Choose the correct options and rewrite the statements :— 10
(1) ———————is a component of sale price. '

(a) Freight

(b) Forwarding charges
(c) Sales Commission
(d) Both (a) & (b) above

(2) Manufacturing cost =Rs. 6,00,000, Excise duty =Rs. 1,60,000, Installation
charges = Rs. 35,000. Cost of Transport = Rs. 40,000, Octroi =Rs. 45,000, -
Packing Charges = Rs. 40,000. The sale price assuming that sale is at Ex.
factory is :

(a) Rs. 7,60,000
i (b) Rs-. 8,85,000
' (¢) Rs. 8,00,000

(d) Rs. 9,20,000

(3) As per composition scheme for retailers, 8% tax is payable on
a) Sales - Purchases
b) Sales- (Purchases + Opening stock - Closing stock) |
c) Sales - (Purchases + Opening Stock)
d) Sales - (Purchases - Closing Stock)

(4) Taxable purchases mean only ———————purchases taxable under MVAT.
(a) Inter-state ’
(b) Local
(c) Import
(d) Allthe above

(5) Taxable sales include
(a) Local Sales
(b) Interstate Sales
(c) Exports
(d) All the three

Con. 5069-14. [ TURN OVER
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(6) Taxat1%
(a) Schedule A
(b) Schedule B
(c) Schedule C
(d) Exports

(7) Incase iftaxable goods are used as fuel, reduction in set off is
(a) 2%
(b) 5%
(c) 3%
(d) 36%

(8) Setoffisan -of tax paid on purchase of goods and which can
be adjusted against the tax payable on sales.
(a) Deduction
(b) Exemption
(¢) Provision
(d) Allowance

(9) E Schedule goods are taxable @
‘ (a) 1%
(b) 5%
(c) 12.5%
(d) 20%

(10) cannot opt for the scheme of composition.
(a) Manufacturer
(b) Retailer
(¢) Works Contractor
(d) Mandap Keeper

9. Mr. Shirish who started business in December, 2012, furnishes the following 10
information regarding his turnover of purchases and sales transactions. You are requested
to find outwhether & from which month, as per the provisions of the MVAT Act, 2002,
e is liable for registration and paying VAT. Give reason for your answer.
Month - Details of Purchases Details of Sales
' | Import Local
Taxable | Tax Taxable | Total Tax Taxable | Total
Free | Goods Free Goods o
Goods ‘ Goods
December 2012 | 1,60,000 2,000 2,400 1,64,000 2,00,000 | 6,000 2,06,000
January 2013 1,00,000 | 4,000 2,400 1,06,400 80,000 | 1,600 81,600
March 2013 1,80,000 | 3,000 5,000 1,88,000 1,60,000 | 1,600 1,61,000
[ TURN OVER
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9. M/sIdeal Chemicals Pvt. Ltd. requests you to compute liability under MVAT Act, 2002 10
for the month of January, 2013 from the following information. M/s Ideal Chemicals
Pvt. Ltd. is registered dealer under MVAT Act, 2002.

Particulars Rs.
Sale of Schedule “A” goodS 4,00,000
Sale of Schedule “C” goods 2,00,000
Sale of Schedule “E” goods 5,00,000
Sale out of Maharashtra 10,00,000
Labour Charges Received 4,00,000
Less : Sale retums (within 6 months) of

Schedule “A” goods | 20,000
Schedule “E” goods 50,000

M/s Ideal Chemlcals Pvt. Ltd. 1s entltled to set-off of Rs. 36,500 b/f from prev1ous

month. Sales figures are exclusive of sales tax.

10. Compute the total Income of Miss Nandini for A.Y 2013-14

(1)
(2)
NE)
(4)

)
(6)

SECTION III

12

Miss Nandini informs you that the net profit as per Profit And Loss A/c for the Year
ended 3 1st March, 2013 is Rs.1,30,000. On detailed scrutiny, the following discrepancies
were revealed:—

Depreciation Allowable as per Income Tax Act is Rs.21,000/- whereas, the amount

-debited to Profit And Loss A/cis Rs. 28,000/-

Guest House Expenses amounted to Rs.7,500/- have been debited to Profit And

LossAlc.

Rs. 4,500/~ received as contribution towards Provident Fund from employee,
however, such sum has not been paid toP.F.A/¢

Salary paid to son to the extent ofRs.21,000/- was considered unreasonable.

Contributed Rs. 9,000/- to annuity plan of Life Insurance corporation of India.

OR

Con. 5069-14.
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10. Mr. Balaji, an Indian citizen and a professional cricketer toured South Africa, Australia, 12
U.K., West Indies and Zimbabwe on various dates. The details of his departures from and
arrivals to India are as under:-

Country , Date of departure Date of arrival
South Africa (for the first time) | 01-03-2010 25-03-2012
Australia 15-04-2012 01-05-2012
UK. 05-05-2012 - 11-07-2012
West Indies 31-08-2012 14-09-2012
Zimbabwe ‘ 01-01-2013 23-03-2013

Determine Residential status of Mr. Balaji for the Assessment Year 2013-2014, from
the above details.

11. Answer any four of the following with reference to Assessment Year 2013-2014, giving 8
reason in brief:- ‘ ' '
(1) Mr. Satish received Dividend of Rs. 5000 from XYZ Ltd., an Indian Company

Can he claim this dividend income as exempt u/s 10(34)?
(2) Mr. Ramdas retired from a Government Organisation. He received pension@
Rs. 5000/- p.m. during the previous year 2012-13. He claims this pension as
~ exempt being received from a Government Organisation. Is his claim correct?

(3) Mr. Amogh (Member of Parliament) has received remuneration of Rs. 60000.
He claims this as his Income from salary. Is he right? -

(4) Mr. Manoj Shinde is physically handicapped (45%) as certified by medical

' authorities. He claims a deduction of Rs. 100000 U/s 80U. Is he correct?

(5) Mr. Ambarish paid Life Insurance Premium of Rs. 10000 on behalf ofhis wife
who is dependent on him. He claims deduction u/s80C. Isheright in claiming
the deduction? _

(6) Mr. Prakash has debited Rs. 20000 as sales- tax to his P & L A/c which is
unpaid till the due date of filling of his Income Tax return. Can he claim this as
a allowable deduction ?

COn. 5069-14. [ TURN OVER
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Business Management 9 QP Code : AE-6380
g_’aper_—") (REVISED COURSE-OLD PATTERN)
A'I;‘I:'I“:c;)' g nagement (3 Hours) [Total Marks : 100

N.B.: (1) Question No. 1 is compulsory.
(2) Solve any four questions from Question No. 2 to 8.
(3) In all 5 questions to be solved.
(4) All questions carry 20 marks each.
- (5) All working notes should form part of your answer.

1. Rearrange the following into a comparative statement for M/s. Autoriders Ltd.

Particulars 1 April, 2010 ¥ 31t March, 2011 ¥
Trademarks 7,00,000 2,90,000
Plant and Equipment 80,000 90,000
Business Premises 2,00,000 1,08,000
Land 10,00,000 12,00,000
Inventories 2,00,000 1,90,000
Accounts Receivables 1,00,000 60,000
Cash and Bank 1,60,000 1,90,000

24,40,000 21,28,000

Equity Share Capital 10,00,000 12,00,000
5% Preference Share Capital 16,00,000 Nil

. Reserves 2,40,000 4,08,000
10% Debentures 1,60,000 1,20,000
Accounts Payable 2,40,000 1,60,000
 Provision for Tax 1,00,000 1,20,000
Proposed Dividend 1,00,000 1,20,000
24,40,000 21,28,000

2. Prepare Cash Budget of Suman Ltd. for 3 months commencing from April with the help

of following information :

Month Sales (%) Purchases (X)| Wages (3)
March 8,00,000 2,50,000 Nil
April 3,00,000 3,20,000 80,000
May 4,00,000 3,20,000 80,000
June 4,00,000 4,80,000 1,00,000
July 12,00,000 4,00,000 1,00,000

(a) Cash sales are 25% of total sales.

(b) 60% of credit sales are collected in the same month and balance 40% in the

following month.

(c) Payment for purchases is made 40% in the same month and balance 60% in the

following month.

(d) Interest @6% on debentures of ¥ 2, 00 000 is paid in the month of June.
(e) Rent of ¥4,000 per month.
(f) Dividend received in the month of May ¥ 22,000.

(g) Cash Balance as on 31* March is ¥ 2,00,000 [TURN OVER

Con. 3725 (a)-14.
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A factory produces 50,000 units during the year and sells them for ¥ 5 per unlt Cost
structure of a product is as follows :

Per unit
Raw Materials 50%
Labour 25%
Overheads 10%
Total cost 85%
Profit 15%
Sales 100%

The following additional information is available :
(a) The activities of purchasing producing and selling occur evenly throughout the year.
(b) Raw materials equivalent to 1 months supply is stored in godown.
(c) The production process takes one month.
(d) Finished goods equal to three months production are carried in stock.
(¢) Debtors get 2 months credit.
(f) Creditors allow one and half months credit.
(g) Time lag in payment of wages and overheads is /2 month.
Prepare an estimate of working capital requirement.

You are furnished with the following information :
- Fixed cost for a period ¥ 15,000
Variable cost per unit ¥ 30
Selling Price per unit ¥ 60
Actual units sold 2250 units.
Determine :
(1) P/V Ratio
(2) Break-even point
(3) Margin of safety sales in units and in rupees
(4) Profits, if the sales are 750 units
(5) - Sales, if profit is ¥ 45,000
(6). New BEP if selling price increases by 25%.

[TURN OVER
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5. The following are the summarized Balance Sheets of ABC Ltd. as on 31% March, 2009

and 2010.

Particulars 2009 ) 2010 )
Share Capital 2,00,000 2,00,000
General Reserve 5,000 10,000
Debentures 1,00,000 1,00,000
Provision for Taxation 4,000 6,000
Sundry Creditors 25,000 30,000
Bank Overdraft 500 1,000
Provision for Doubtful Debts 500 600
Proposed Dividend ' 15,000 12,400
Total 3,50,000 3,60,000
Assets
Land 1,20,000 1,30,000
Plant and Machinery 50,000 65,000
Goodwill 14,000 12,000
Stock 50,000 70,000
Bills payable 26,000 23,000
Sundry Debtors 50,000 40,000
Cash 20,000 10,000
Prepaid Expenses 8,000 10,000
Preliminary Expenses 12,000 Nil
Total 3,50,000 3,60,000

(1) A machinery worth ¥ 15,000 was purchased during the year.

(2) An old machinery having written down value ¥ 500 was sold for ¥ 2000.

(3) Land costing ¥ 36,000 was sold for ¥ 70,000 during the year.

4)

Proposed dividend of last year has been paid during the year,.
You are required to prepare : ‘
(a) A statement showing changes in working capital and
(b) A statement of sources and application of funds for the year ended 31* March, 2010.

6. Write short notes on the following (any four) :—

(a)
(b)
(©)
(d)
(e)
®

Motives for holding cash

Features of financial statements

Internal financing

Inter corporate deposits
Profitablity Ratios

Types of working capital.

Con. 3725 (a)-14.
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7. (a) Explain the different types of Debentures.
(b) What are the advantages and limitations of Financial statements.

8. A company can make either of two investments at period. Assuming a required rate of
return of 10% determine for each project :
(a) The pay back period and
(b) The Profitablility Index.
You may assume straight line method of depreciation.

\'% - W
Cost of Investment 10,00,000 14,00,000
Expected Life (no salvage) 5 years 5 years
Projected net income (after
depreciation, interest and taxes)
Year 1 50,000 1,20,000
Year 2 50,000 1,20,000
Year 3 1,00,000 1,20,000
Year 4 . 1,00,000 1,20,000
Year 5 _ 1,00,000 1,20,000
Year 1 2 3 4 5
PV factor@ 10% 0-909 0-826 0-751 0683 0-621

[TURN OVER
Con. 3725 (a)-14.
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T. Y. B. Com
Business Management . ' 5

wraperill  (REVISED COURSE-OLD PATTERN) QPCode : AE-6987

Marketing Managemen

APHI 2014 For old and IDOL candidates

(3 Hours) [ Total Marks : 100

B. : (1) Question No. 1 is compulsory.
(2) Answer any four questions from remaining Q 2 to Q.8.
(3) Figures to the right indicate full marks.
(4) Answer to each question must begin on a new page.

1. Explain the following concepts in not more than eight lines : (any five) 20
(a) Marketing Management '
(b) Globalisation |
(¢) E-Marketing
(d) Pushstrategy
(e) Mission
(f) Services
(g) Market Nicher
(h) Brain storming.

2. (a) What are the functions of marketing managers? , 10
‘ (b) What is macro environment? Discuss the changes which have taken place in 10

the Indian marketing environment post Liberalisation.

3. (a) Why is product positioning important in the present marketing environment? 10

(b) Explain various elements of promotion mix. 1
4. (a) | Describe various factors that influence consumer buying behaviour. 10
(b) What are the quantitative tools of Sales forecasting? 10
5. (a) Critically evaluate. | 10

(i) BCGMatrix (i) SWOT analysis

(b) Asamarket leader, how would you design competitive strategies? ' 10
6. (a) Asamarketing manager, suggest an appropriate marketing mix for services. 10
(b) Elaborate on various challenges of rural marketing. 10
7. Write short notes on any two following :- | 20

(a) Organisational buying process
(b) Relationship marketing

(¢) Branding

(d) Poter’s five forces model -
(e) Product life cycle.

Con. 4323 (a)-14. TURN OVER
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8. Casestudy:
Krishi Udyog Limited is in the business of products made from Jute. They basically
deal in producing bags, purses and other fashion accessories with Jute as base
material. Their business is spread in many parts of India. Recently, it has been
observed that there is decline in the product demand in the Indian markets. The
company has been receiving various inquiries about products made from jute from
certain foreign markets. The company feels that the inquiries need to be converted
into sales urgently. The company has hired a manager to over see its entry into
various global markets.

Questions :-

(a) Asamanager, suggest various options avallable to the company to enter
in global markets.

(b) List out certain guidelines so as to get success in global markets.
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T.Y. B. Com | 5

Business
(Paper -l)

Management and Organizational Development
April: 2014 (3 Hours) [ Total Marks : 100

N. B.: (1) Question No. 1 is compulsory.

(2) Attempt any four questions from Q. No.’s 2 to 8.
(3) All questions carry equal marks.

1. Explain the meaning of the following terms (any five) :—

2. (a)
(b)
3. (a)
(b)
4. (a)
(b)
5. (a)
(b)
6. (a)
(b)
7. (a)
(b)

(a) Job Rotation (e) Formal organization
(b) Stress Interview (f) Autocrat leader

(¢) Unity of Command (g) Time management
(d) Span of Control (h) Monetary Incentives.

Discuss the characteristics of Managements.
Explain any five principles of management.

Explain the Limitations of Planning.
Discuss the steps in decision making process.

Describe the bases of Departmentation.
Discuss the reason for conflict between line and staff personnel.

Define Human Resource Management? Explain its importance.
Define recruitment? Explain its sources.

Discuss the method of on the job training.
Describe the limitations of performance appraisal.

What is communication? How can the barriers to communication be removed?
Define controlling. Explain any four techniques of controlling.

8. Case study.

Mr. Pinto, the propietor of Amarsons initially centralised their recruitment process
for its subsidiaries located in different countries. Basically the company would
employ people with high technical skills and knowledge. But ultimately they could
not achieve and implement production and marketing strategies. The company
could discover that the cultural mismatch of the employees with that of the
country and consumers were main reason for low performance.

(1) Does Mr. Pinto’s centralised recruitment policy correct? Suggest some

recruitment sources. '
(2) What initiatives should the company take to improve its performance?

[TURN OVER

Con. 682 (a)-14.

(REVISEDB'COURSE OLD PATTERN) QP Code : AE-6974

20

10
10

10
10

10
10

10
10

10
10

10
10

20

10

10



6 QP Code

(TRt TUTR)
(3 =)

et : (%) A %. 3 IFEH IR,
() Y . R @ ¢ ¥ HiveaE wr vt W o
(3) 9d YT WAR U 3ATR.
(¥) 3T 9IS T Y@ WHTEA.

WAlS G931 W U (AT u=) -

(1) wd gHu . (3) oftg=nitss Hwed
() dund gIrEa (%) THIURIETE A4l
(F) ACUTNS ThaTERd (1) T ST
(z) Trmor wan (8) offe @uw.

(31) syaeeTgTeAT Afiresr=h ==t .
(9) T I I aw dh.

(37) FrieFm= A1 WE 4.
(@) frofa whradte fafag coa= avia =,

(31) faurfior= SuREdw vl .
(9) gr@ed fT a3 AREFAmE) Iewaum=aT SerE I o

() AT 95 SAIEATGATE! SRS 1. I Agedl T8 .
(9) W=l qRwmeT &1, @ Wi I SATRA.

(31) i weEde yiauren Tgd=l ==t ®U.
() SR e Tae WY .

(37) TREET TEUS HA7? HIYEEAT VR MBS HY G HWT UG 7
(8) From=h saren @, fEsomE wiodE R ax wWE w.

IEEY Tow M. U o e s fafay e v smde staen

: AE-6974

T : %00

R0

‘go,-
go

¢o
g0

g0
¢o

go
¢o

Q0
go

Lo
2o

R0

AT FUATHEY WA HAH FS B, God: & HU I\ qibE Sived A Sfgw
e FO T SHAEAEU A T B AR, T HOA T WY AdST Y, HHETIE
Az AW oM S UESH F=AEIEd AICH IRt I YHR UG I AE R =

FH SR &I SR IR.
(2) . T = & Wt G A AR FwY WA R B geE.
(R) wmEfd Ifgm FwaEE e FUd THd IHSS! SHA?

Con. 682 (a)-14.

go
Q0



T.Y.B.Com
Financial Accounting & Auditing

(Paper- 1ll) QP Code : AE-6956
_(Financial Accounting)(REVISED COURSE-OLD PATTERN)
April : 2014 (3 Hours) [ Total Marks : 100

(For the students who have taken admission in the college during the academic year 2010-11
or earlier and for students who have registered through the institct~ c¢f Di3tance and open
learning)

N.B.: (1) Question Nos. 1 and 2 are compulsory.

1.

2.

(2) Attempt any four questions from Question Nos. 3 to Question No.9.

(3) Question No.1 carries 20 marks and other questions carries 16 marks.

(4) Al working notes should form part of your answer.

(5) Balance sheet of a company in questions other than Final accounts may be prepared as per
Horizontal or Vertical form.

Vaishali Ltd issued for public subscription 5,00,000 equity shares of ¥ 10 each at a premium of < 3 per 20
Share payable as under -

% 5 on Application (Including Premium I 3 per Share), T 4 on Allotment and balance on First and final call.
Applications were received for 8,00,000 shares. The directors decided to (i) Reject applicants for 50,000
shares and (ii) Allot balance applicants on pro rata basis. Excess application money were adjusted
towards allotment money due. Allotment money was demanded and received from all except From
Rupal, who was allotted 40,000 shares could not pay allotment money. First and Final call was made
and received except from Rupal and Hiral (Who was allotted 5,000 shares) could not pay first and final
call. Shares of Rupal and Hiral were forfeited. All forfeiited shares were reissued to Apurva for ¥ 9 per
share as fully paid up. Pass J ournal entries to record above transaction.

(a) Match the Group A with most appropriate choice given in Group B and rewrite—- 8.
Group A Group B
Amalgamation Adjustment A/C AS 11
Foreign Currency Transactions Added to Cost of Shares
Brokerage on Sale of Shares Statutory Reserves
Brokerage on Purchase of Shares Deducted from Price of Share
Balance in Debenture Redemption AS 13
Reserve after Redemption of Debenture
Personal Investment Account General Reserve
Profit on cancellation of OQwn Debentures Capital Redemption Reserve
Issue of Fully Paid Bonus-Shares Capital Reserve
(b) State whether following statements are True or False. (Reasons not required) - 8

1. Amalgamation may be in the nature of Merger or Purchase.

2. Arrears of Preference dividend is a contingent Liability, hence it is not recorded in the
accounts. '

Profit Prior to Incorporation is a Capital Profit.

In the Balance Sheet of a Company Calls In Arrears Account should be deducted from
called up capital.

Cost of Purchase of Shares includes only purchase price.

Reporting Currency is the currency of the foreign country.

Issued Capital is the capital actually paid by the subscriber.

Redemption of Debentures may be made out of proceeds of fresh issue only.

_.D.UJ

% N oL

Con. 4252-14. [ TURN OVER



2 QP Code : AE-6956

3. Mr, Tushar formed a private limited company on Ist July, 2012 in the name and Style of Tushar Private 16
Limited to take over his existing business as from Ist April 2012. No entries were made to take over in
the books that were carried on till 31 March, 2013. The followmg Trial Balance was extracted for the '
year ended 31st March, 2013.

Particulars Dr. ¥ | Particulars Cr.?

Stock on Ist April, 2012 8,600 | Sales ‘ 55,600

Purchases 37,800 | Tushar’s Capital 46,000

Carriage Outwards 660 | Current Liabilities - 7,400

Salesman’s Commission 1,500

Office Expenses 4,200

Rent & Taxes 2,400

Directors Fees 3,600

Fixed Assets 26,800

Current Assets 22,400

Preliminary Expenses 1,040 ,
Total T 1,09,000 Total 1,09,000

You are given the following additional information

Stock on 31st March 2013 was  8,800/-

The purchase consideration was agreed at T 60,000/~ to be satisfied by theissue of 6,000 equity shares 0of T 10 each.
Company was incorporated on Ist July 2012.

The gross profit margins are constant.

The sales in April 2012, Feb. 2013 and March, 2013, were double the monthly sales for the remaining
months of the year.

Preliminary expenses are to be written off.

You are required to Prepare Trading and Profit and Loss account for the year ended 31st March, 2013 in
columnar form showing pre and post Incorporation profits and how it will be treated

4. Following is the Balance Sheet of Sachin Ltd. as on 31st March, 2013 — 16
Liabilities T | Assets - Z
2,000 — 8% Redeemable :

Preference shares of T 100 Sundry Assets 15,75,000
each, fully paid. 2,00,000 | Bank - 2,18,000
1,00,000 Equity Shares of T10 Investments (Market Value 3,00,000
-each, fully paid 10,00,000 | ¥ 3,50,000) '
Securities Premium 3,35,000
Profit & Loss Account 3,00,000
Sundry Creditors 2,58,000
Total 3 20,93,000 | Total ¥ - 20,93,000

On the above date the Directors of the company took following steps to redeem 8%

Preference Shares at a premium of 7.50%.

The company issued 10,000 Equity Shares of ¥ 10; at a premium of 4 per share for the purpose of

redemption of preference shares.-

Investments were sold at market value.

All the payments were made to the Preference Shareholders except those holding 160 shares who could not be traced.
_ You are required to :

Pass necessary journal entries in the books of Sachin Ltd. after Complying with requirements of

companies act 1956. Prepare the Balance Sheet of the company after

redemption of Preference Shares.

[TURN OVER
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5. You are furnished with followirig information in respect of Rahul Ltd., which had undergone internal 16

reconstruction:-

Balance Sheet of Rahul Ltd. as on 3lst March, 2013
Liabilities T | Assets - 4
50,000 Equity shares of Fixed Assets 5,60,000
T 10 each, fully paid 5,00,000
3,000 8% Preference Trade Marks 40,000
Shares T 100 each, fully 3,00,000
Paid Investments 32,500
9% Debentures 3,00,000 | (Market Value ¥ 27 500)
Accrued Interest on above ‘Sundry Debtors 60,000
Debentures ~ 54,000 | Other Current Assets 1,64,500
Bank Overdraft 77,000 | Profit & Loss Ale - 4,14,000
Sundry Creditors 40,000, |

Total ¥ | 12,71,000 Total T 12,71,000

After obtaining various permission and complying with the procedure following scheme of reconstruction
was sanctioned on Ist April, 2013.

- Fixed Assets were revalued at ¥ 5,50,000/-
Investments were sold at Market Value.
Débenture holders agreed to waive interest on conversion of Debentures into Equity Shares of < 10 Per share fully paid.
Preference shareholders agreed to forgo I 70 per share provided Rs.30 Per Share were paid immediately.
Equity shareholders agreed to reduce their shares by ¥ 7 per share & pay in cash reduced Rs.7 Per Share
to the company immediately.
Interest of < 3,500 was immediately paid for Bank overdraft, which was not recorded.
Creditors were settled for ¥ 35,000 on immediate payment.
Write of fictitious assets Trade Marks and profit and loss account debit balance to the extent poss1ble
Prepare Capital Reduction account and Balance sheet after giving effect to above.

6. Nitesh Ltd. furnishes you with the following Trial Balance as on 31st March 2013 : 16
Particulars ‘ Debit T Credit %
Equity shares of ¥ 1 each fully paid up
as per last year received in cash Y. 70,00,000
Inventory at cost 15,00,000
Tax payments pending assessment 6,00,000
Tax provision pending assessment 5,50,000
Advance payment received repayable after 12 Months 60,000
Provision for bad debts ‘ 2,00,000
Fixed Deposit in bank Maturing on 31.3.2016 18,80,000 - ‘

General Reserve as per last year Balance Sheet 48,70,000
Cash : : 20,000
Bank of India Cuirent account - 1,00,000
Customers Dues- Receivable in 12 months 53,50,000
Profit & Loss Account v 20,80,000
Investment in shares of Zedo Ltd. 50,000
Creditors payable in 30 days.. 10,00,000
Fixed Assets WDV after Depreciation ¥15,40,000) 62,60,000

Total 1,57,60,000 1,57,60,000

. The dlrectors have proposed to maintain final equity dividend @ 20% and appropriation of ¥ 1,00,000
to General Reserve. You are asked to prepare Balance sheet as on 31st March, 2013 in revised Schedule B
" VIin vertical form, giving the information required by the
Companies Act 1956 inthe manner so required to the extent it is available from the above data .

[ TURN OVER
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7. Journalize the following transactions in the books of Big Boss Ltd.

8.

1. Onlst July, 2012 goods worth $ 52,500 were exported to Small Ltd. The amount was realized as below :
On 5th November, 2012 $ 35,000
On 11th May, 2013 $ 17,500

2. Goods worth $ 5,000 were exported on 15th July, 2012 to Little Ltd. The amount was

received on 14th August, 2012.

3. On 15th September, 2012 Raw Material worth § 10,000 were imported from Tiny Ltd., payable

50% immediate and the balance on 15th April, 2013

4. Motor Vehicle was imported from Smart Ltd. on Ist January, 2013 for $30,000. The payment for the

same was made on 25th April, 2013.

Exchange Rates per $ were:
Date ' £4
Ist July, 2012 41.00
15th July, 2012 : 41.25
- 14th August, 2012 ‘ 41.50
15th September, 2012 ’ 41.00
31st October, 2012 ‘ 41,75
5th November, 2012 40.00
15th December, 2012 : 42.00
Ist January, 2013 42.25
15th February, 2013 : 42.50
31st March, 2013 42.00
15th April, 2013 42.50
. 25th April, 2013 42.75
11th May, 2013 S 42.00

M.Power submit the following details regarding one of their investments for the year 2012 :
Opening Balance on 1.1.2012: Face Value ¥ 9,000; Cost Value T 12,360
Purchases: A
1-3-2012 Face Value ¥ 9,000 ; Cum-interest at 5% discount.
1.12.2012 Face Value T 3,600; Ex-interest at 1% discount.
Sales: ) ’ '
1-7-2012 Face Value T 7,500; Cum-interest at 2% premium
1-12-2012 Face Value < 3,000; Ex-interest at par
Investment carry interest at 6% p.a. payable on every 31st March and 30th September.
Prepare Investment Account closing it on 31st December, 2012.

(a) Snehal Ltd. issued 50,000 15% Debentures of 1000 each at T 976 per debenture. The debentures
are redeemable in five annual installments of ¥ 200 each. It is decided to write off discount in
proportion to the amount of debenture finance usage over the various years.

Your are asked to o ~
Prepare statement for write off of discount over the five year period,
Prepare the Discount on Issue of Debenture A/C for the five years.

(b) Following is the Balance Sheet of Sheetal I Ltd. as on 31103/2013
Liabilities 54 Assest ' Z _
Equity Shares of 310 tach 6,00,000 | Net Block of Fixed Assets -18,00,000
Preference Shares of Long Term Investments 2,00,000
100 each 2,00,000 | Bank Balance ' 21,00,000
Securities Premium ©3,00,000 K . |
. General Reserve 2,00,000
Profit & Loss AIC 2,00,000
Debentures ' 1 16,000,000
Creditors 10,00,000 ,
Total X 41,00,000 "~ TotalX 41,00,000

Keeping in view all the Tegal requirements, ascertain the maximum No. of equity shares that Sheetal
Ltd. can buy back @ ¥ 30 per share, being the currernt market price

Con. 4252-14. . [TURN OVER
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. T.Y.B. Com

Financial Accounting & Auditing

- (Paper- 1V) '
(Cost Accounting Introduction & Basic Concepts) QP Code : AE-6962
April : 2014 (REVISED COURSE-OLD PATTERN)

(3 Hours) [Total Marks : 100

N.B. : (1) Question No. 1, 2 and 7 are compulsory and answer any two from the remaining of
each section.
(2) Figures to the right indicate full marks alloted to the questlon
(3) Working notes wherever necessary should form part of your answer.
(4) Answer both the section in the same answer book.

Section I

1. (a) Explain with examples different types of errors of commission. 8
(b) How would you vouch the following :—

) Cash Purchase 3
(ii) RentReceived. 3
2. (a) Select the appropriate option and rewrite the following sentences. 6

(i) Which of the following errors will affect the trial balance ?
e Repairs to machinery wrongly debited to machinery account
o Total purchase Journal is short by ¥ 2000
e Freight paid on purchase of new Machinery debited to freight account
e None of the above.
(11) Working papers are the property of the
e Client
Client and Auditor
Auditor
Non of the above
(iii) SA which deals with Audit sampling.
530
400
610
_ None of the above
(iv) The Auditor should examine in case of sales return.
o Credit notes and delivery challans
e Debit notes and cash memos
e Purchase invoices and goods received notes
e Credit notes and goods received notes
(v) Prior Period expenses are
e Expenses of the current year pald in Previous Year
Expenses of the previous year paid in Current Year
Expenses of the previous year paid in Previous Year
None of the above.

[ TURN OVER
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(vi) The Auditor of a Government Company is appointed by
e The Shareholders
e The Board of Director
e The Comptroller and Auditor-General of India
o The Central Government.

(b) Match the following :— 6
Column A Column B
o Internal Auditor - e Statutory Auditor
e SA dealing with working papers e Add cost to the cost of original shares
e Report to shareholders e Shareholders at Annual General
e Royalty Meeting
¢ Right Shares e SA 300
¢ Re-appointment of Auditor e Report to Management
e Lease Deed
e SA 230

3. (a) What are the features of routine checking ? 6
(b) What are the limitations of internal control ? 6

4. (a) What are the points to be considered in vouching ? 6
(b) Explain removal of Auditors. ' 6

5. (a) How would you verify the following :— 6

(i) Debtors. (i) Stock
(b) What is Audit Programme ? What factors should be kept in mind while preparing 6
Audit Programme ?

6. Write short notes (any three) :— 12
(a) Cost Audit
(b) Test Checking
(¢) Vouching of Cash Sales
(d) Verification
(e) Letter of Confirmation
(f) Principles of Audit.

[TURN OVER
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7. Navketan Ltd. has under taken two contracts.

3 B

Section 11

for the year ended 315t March, 2013.

QP Code : AE-6962

It furnishes the following information 20

Particulars Sangli Satara
Contract Contract
3 3
(1) Balances on 1%t April, 2012.
Material at site 300 6,000
Uncertified work 7,500 12,000
Plant at site 6,600 9,300
Work Certified 58,500 4,200
Provisions for Contingencies 3,000 1,800
(2) Transactions during the year :
material issued — 18,600
Subcontract charges 1,800 35,400
(3) Balances on 315t March, 2013 : '
* Material at site . — 3,000
Uncertified work — 3,000
Plant at site — 6,000
Work Certified 75,000 90,000
(4) Contract Price 75,000 1,20,000
(5) Amountreceived 75,000 81,000

(6) Value of plant transferred from Sangli contract to Satara contract ¥ 4,650
The Company consistently adopts to policy of taking credit for the contract profit
considering the proportion of amounts received to the contract price.

You are required to :
Prepare Sangli contract account and Satara contract account for the year ended
315t March 2013.

8. Product XYZ obtained after it is processed through three distinct processes. The 15
following information is available for the month of March, 2013.

Process
Particulars ‘ X Y Z
4 4 g
Material Consumed 7,875 6,675 3,330
Direct Labour 6,750 11,040 4,200
Production Overhead 6,750 11,040 4,200

[ TURN OVER
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1500 units @ % 3 per unit were introduced in Process ‘X’.

Process Output in Normal loss Value of scrap
units on input per unit (%)
X 1350 10% 1-50
Y 1020 20% 1-50
Z 810 25% 3-00

There is no stock of work-in-progress in any process. You are required to prepare
Process ‘X’ a/c, ‘Y’ a/c & ‘Z’ a/c.

9. Sagar manufacturing company gives you the following particulars for the year 2012. 15

Production and sales during the year was 20,000 units.

Particulars 4 Particular ’ T
Material 5,00,000| Factory Overheads
Direct Wages 3,00,000 Fixed 2,00,000
Administrative Overheads 2,00,000 Variable 4,00,000
(Fixed) Selling & Distribution

Sales 24,00,000| overheads :

- Profit 5,00,000| Fixed 1,20,000

Variable 1,80,000

The company has worked to its maximum capacity of 20,000 units during the year
2012. The management has decided to increase Production capa01ty to 30,000 units
for the year 2013 and it is estimated that :

(a) There will be all round rise in all variable expendlture by 10%

(b) There will be increase of 20% in all fixed overheads

(c) There will be no need to change the selling price for the year 2013.
Prepare Cost sheet for the year 2012 with cost per unit column and also prepare
estimated Cost sheet for the year 2013 with cost per unit column.

10. (a) The sales turnover and profit of M/s Amit Ltd. during the two year 2011 and 2012
were as follows :—

Year Sales Profit

2011 9,00,000 | 1,20,000
2012 | 10,20,000 | 1.50.000

Your are required to calculate :
(i) P/V Ratio
(i) BEP Sales
(iii) Sales required to earn a profit T 2,40,000
(iv) The profit made when sales are T 15,00,000

[TURN OVER
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(b) From the following Particulars Calculate :—

5

(i) Material Cost Variance
(ii) Material Price Variance
(iii) Material Usage Variance

QP Code : AE-6962

Standard Actual
Material 1000 kg 900 kg
Price T 12 per kg % 16 per kg.

11. (a) Calculate profit as per Financial Accounts :—

Net Profit as per Cost Accounts

Over valuation of opening stock in Cost Accounts
Over valuation of closing stock in Cost Accounts

Goodwill written off

(b) From the following data Calculate :—

(i) Profit Volume Ratio
(ii) Profit when sales are ¥ 60,000 and

60,000
7,000
4,000
3,500

(iii) New Break-Even point if selling price is reduced by 20%
Fixed Expenses ¥ 12,000 and ’
Break-Even point ¥ 30,000

(¢) From the following information calculate—
(i) Labour Cost variance
(ii) Labour Rate variance

(iii) Labour Efficiency variance.

Number of Hours Per unit.

Rate per hour (3).

Con. 4248-14.

Standard

360
1-50

Actuai

400
1-40
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T. Y. B. Com
Financial Accounting & Auditing

(Poamor ) QP Code : AE-6970
Introduction to ManagﬁmmD COURSE-OLD PATTERN)
April : 2014 (3 Hours) [ Total Marks : 100

N.B.: (1) Question No.1 and 2 are compulsory and carry 20 marks and 16 marks
respectively.
(2) Attempt any four questions from the rest, carrying 16 marks each.
" (3) Working Notes should form part of your answer.
(4) Proper presentation and neatness is essential.
(5) Use of simple calculator is allowed.

1. Following is the Profit & Loss A/c of Manali Limited for the year ended 31st March, 2013 :— 20

Profit & Loss Alc
for the year ended 31st March, 2013

Debit 3 . Credit k4
To Opening Stock 44,000 | By Sales less Returns 2,00,000
To Purchases less Returns 82,000 | By Closing Stock 60,000
ToWages 40,000 | By Interest Received 20,000
To Carriage Inward 12,000
To Office Expenses 12,000
To Administrative Expenses 8,000
To Finance Expenses 12,000
To Advertisement - ‘ 14,000
To Show Room Expenses 6,000
To Depreciation 16,000
To Loss on Sale of Furniture 4,000
To Income Tax 10,000
To General Reserve : 12,000
To Proposed Dividend 6,000
To Net Profit 2,000

' ‘ 2,80,000 2,80,000

Calculate following Income Statement Ratios ‘—
Gross Profit Ratio

Operating Ratio

Net Profit Ratio - After Tax

Net Operating Profit Ratio

Stock Turnover Ratio

Operating Expenses Ratio

. Selling Expenses Ratio

Vertlcal Statement not expected.

TN O RO~

2. (a) State whether the following statements are True or False :— 8
» All Fixed assets are subject to depreciation.

Owed Fund is an internal source of finance.

Discounted cash flow technique takes into account time value of money.

Current ratio indicates short term financial position of the concern.

Gross working capital means current assets less current liabilities.

In cash flow statement issue of bonus shares is shown under financing activity.
Computer has no role to play in MIS.

Data requires processing before it becomes information.

[ TURN OVER
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(b) Fill in the blanks — 8
-« Capital Work In Progress is treated as asset.
* In Common Size income statement is taken as 100.
« Total of Cost of Goods Sold and Operating expenses is known as
 Total of net profit and
Cash Profit.
In Capital Budgeting

Cost.
items debited to P & L Account is known as

. period is usually expressed in years.
 As per MIS tactical decisions are taken by level managers.
* Undistributed profits are called as

» Standard Current Ratio is

3. The following balances appear in the books of Shyam Ltd. for the year ended 31st March, 2013. 16
You are required to prepare the Balance Sheet in Vertical Form :—

Particulars 4 Particulars g
Calls in Arrears 20,000 { Cash in Hand 34,000
Fumiture 64,000 | Equity Share Capital 4,00,000
Closing Stock 3,20,000 Preference Share Capital 1,00,000
Provision for Bad Debts 10,000 | General Reserve 1,00,000
Plant and Machinery 1,60,000 | LongTerm Loans 1,20,000
Bills Receivable 52,000 Investments 80,000
Sundry Creditors 1 2,52,000 | Bills Payable 42,800
Bank Balance "~ 80,000 Profit and Loss Account (Cr) 3,70,400
Preliminary Expenses: 20,000 | Sundry Debtors 2,00,000
Goodwill 80,000 | Land and Building 3,40,000
Liability for Expenses 4,800 | Capital Reserve 26,000
8% Debentures 50,000 | Prepaid Expenses 11,000
Provision for Tax 10,000 | Proposed Dividend 20,000
Advance Tax 15,000 Marketable Investments 20,000
Unsecured Loans 10,000 | Vehicle 20,000

4. From the following information prepare Trend Revenue Statement of Rami Limited after 16
arranging in Vertical Form. Ignore decimals.

Particulars 31st March 11 | 31stMarch, 12| 31st March, 13
T T 4
Sales 10,00,000 12,00,000 15,00,000
| Opening Stock 18,000 20,000 30,000
Purchases 4,50,000 3,50,000 3,00,000
Direct Wages 30,000 25,000 28,000
Direct Expenses 7,000 6,500 7,500
Administration Expenses 38,000 36,000 34,000
Selling and Distribution Expenses 20,000 25,000 30,000
Debenture Interest 5,000 5,000 5,000
Other Finance Expenses 6,000 5,000 5,000
Interest Received - 4,000 6,000 4,000
Closing Stock - ? ? 40,000
“Provision for Tax ‘ 50% 40% 40%
[TURN OVER
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5. Following is the Balance Sheet of Deepali Limited as on 31, March, 2013 :—
Balance Sheet
As on 31st March, 2013

Liabilities 3 Assets 3

Equity Share Capital 1,00,000 | Goodwill 60,000
8% Preference Share Capital 60,000 | Land & Building 1,40,000
Profit & Loss A/c 30,000 | Plant & Machinery 70,000
Capital Reserves 40,000 | Furniture 20,000
Other Reserves 10,000 | 5% Government Bonds 10,000
8% Debentures 1,00,000 | Stock . 40,000
Term Loans 50,000 | Sundry Debtors 60,000
Sundry Creditors 20,000 | Prepaid Expenses 10,000
Cash Credit 15,000 | Cash on Hand 6,000
Provision for Income Tax 10,000 | Cash at Bank 14,000
Expenses Due , 5,000 | Preliminary Expenses 10,000

4,40,000 4,40,000

You are required to calculate following Ratios :—

(1) Current Ratio
(2) Liquid Ratio
(8) Stock Working Capital Ratio
(4) Proprietory Ratio
(5) Debt Equity Ratio
Write short comment on current ratio.
Vertical Statement not expected.

16

From the following Balance Sheets of Sudesh Ltd., prepare Cash Flow Statement as per 16
AS-3, forthe year ended 31st March, 2013 :—

Assets 31-03-2013 31-03-2012

. o e
Fixed Assets 15,00,000 10,00,000
Cash and Bank 3,60,000 - 3,00,000
Accounts Receivable 7,50,000 4,50,000
Bills Receivable 1,00,000 1,50,000
Stock 5,20,000 3,20,000
Underwriting Commission — 1,40,000
32,30,000 23.60.000

Liabilities 4 4
Equity Share Capital 16,00,000 14,00,000
General Reserves 4,50,000 3,50,000
Profit & Loss A/c 5,00,000 3,00,000

Bank Loan 4,00,000 -
Creditors for Goods 70,000 60,000
Bills Payable 30,000 90,000
Proposed Dividend 1,10,000 1,00,000
Tax Provision ' 70,000 60,000
32,30,000 23,60,000

Additional informatibn —

(1) During the year some of the Fixed Assets were acquired against issue of Equity

Shares.

(2) Depreciation amounting to ¥ 1,00,000/- was charged on Fixed Assets.

Con. 4242-14.
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7. Honali & Company provides the following information. You are required to prepare an estimate 16
of working capital requirements for the year 2013-14 :—

(1)

()
(3)
(4)
(3)
(6)
7)
(8)
(9)
(10)
(11)
(12)

Estimates for the year 2013-14
Total Sales - 30,000 Units

Cost Sheet per unit
Particulars 4
Sales . - 120

Raw Materials 50
Direct Labour . 30
Overheads 20
Raw materials are in stock 4 weeks
Processing period- 2 weeks
Finished goods are in stock- 8 weeks
Credit allowed by suppliers- 6 weeks
Credit allowed to customers- 8 weeks
Lag in payment of labour- 4 weeks
Lag in payment of overheads- 2 weeks
Cash & bank balance- ¥ 10,000
The company has production and sales evenly spread during the year.
The company works for 50 weeks in a year.
Calculate debtors on sales.

8. TusharLtd.is considering two proposals for investment of X 50.00 lakh each on development 16
of a new product which are expected to generate net cash inflows for 8 years as under :—

Proposal-1 Proposal-2
Year end ‘Net Cashflows T Net Cashflows ¥

1 6,00,000 7,00,000
-2 8,00,000 7,50,000
3 10,00,000 9,00,000

4 11,50,000 9,50,000

5 12,10,000 12,00,000

6 11,25,000 11,50,000

7 11,00,000 13,00,000

8 37,19,823 40,00,000

The expected rate of retum is @ 15% p.a.
You are required to advice the company using NPV method which proposal they should

accept ?

Note : Following is the Table showing Present Value factors @ 15%

Year

1 2 3 4 5 6 7 8

PVofRe.1 | 0-870| 0-756 | 0-658 |0-572 | 0-497 | 0-432| 0-376| 0-284

9. Write short notes on any four of the following :— 16
(a) Concept of MIS
(b) MIS and Computer
(c) Earning Per Share

(d) Di

(e) Common Size Statement.

vidend Pay Out Ratio
[TURN OVER
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T.Y.B.Com
Psychology of Human Behavior at work

April : 2014 7 QP Code : AE-7135

(REVISED COURSE- OLD PATTERN)
(3 hours) [ Total Marks : 100

N.B. (1) Attempt any five questions in all.
(2) Attempt any three questions from section I and any two questions from section II.

OR

Attempt any two section from section I and any two questions from section I1.
(3) All questions should be written in the same answerbook.
(4) Figures to the right indicate full marks. '

Section - 1

1. Explain the following terms (any four) :— | ‘ 20

(a)
(b)
(c)

(d)

(e)
()

Management roles

Management skills

Work force diversity

Improving customer service

Working in networked organizations
Creating a positive work enviornment.

2. State whether the following statements are true or false and give reasons for the same 20
(any four) :—

()
(b)
(c)

(d)

(e)
()

Attitudes have four components.

Job satisfaction describes a positive feeling about a job.

A continuance commitment is an obligation to remain with the organization
for moral or ethical reasons.

There are consequences when employees like their jobs and when they dislike
their jobs.

There is a consistent negative relationship between satisfaction and absenteeism.
Satisfaction is positively related to turnover.

3. Define Motivation. Compare and Contrast the goal setting theory and Management by 20
Objectives.

4. Give reasons for the following statements (any four) :— 20

(a)
(b)

(c)
(d)

(e)
(H)

People join groups for various reasons.

The five stage group development model characterizes groups as proceeding
through five distinct steps or stages.

Role expectations are defind as the way others believe you should act in a
given situation. _

Deviant work place behaviour violates significant organizational norms.
Status is derived from three sources

Brainstorming is meant to overcome pressures for conformity.
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(d)
(e)
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8 QP Code : AE-7135

Discuss in detail “The Dark Side of Management.” 20

Section - II

Write short notes on (any four) — 20

Non-verbal communication

Grapevine

E-mail

Information overload

Gender differences as a barrier to communication
‘Politically correct’ communication.

Distinguish between leadership and management. Explain the Trait Theories of leadership 20

and the Managerial Grid in detail. |

8. Explain the following statements (any four) :— 20

(a)
(b)

()
(d)
(e)
()

Formal power is based on an individual’s position in an organization.
Dependency is increased when the resource you control is important, scarce
and non substitutable. '

Research has identified nine distinct influence tactics.

Sexual harassment is an unwanted activity of a sexual nature.

Individual factors influence political behavior.

Impression management makes use of certain techniques.

9. Explain the following terms (any four) :—

()
(b)
()
(d)
(e)
(D

Task conflict and process conflict 20
Felt conflict ‘

Collaboration

Conflict management

Negotiation

Integrative bargaining.

10. Write a note on the following :— 20

(a)
(b)

Type A and Type B characteristics.
Work related post traumatic stress disorder.
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(OLD COURSE) QP Code : AE-7136

(3 Hours) [Total Marks :

: (1) Attempt ﬁve questions in all.

100

(2) Attempt any three question from Section I and any two questions from Section II.

OR

Attempt any two question from Section I and any three question from Section II.

(3) Figures to the right indicate full marks.
Section 1

. Explain the following terms (any four) :—
(a) Goals of O.B.

(b) Individual differences

(¢) A whole person

(d) Triple reward system

(e) Systems approach

(f) Unethical manipulation of terms.

. State whether the following statements are true or false and give reasons (any four) :—
(a) Organizations cannot exist without communication

(b) Context provides meaning to words

(¢) Senders need not communicate with care

(d) Actions have no meaning

(e) There is important difference between Grapevine and rumour

(f) Email has both advantage and disadvantages.

. Explain and evaluate Herzbergs two factor theory and Goal setting theory of motivation.

. Give reasons for the following (any four)

(a) Money has social value.

(b) Employees often make cost reward comparison.

(c) Modern appraisal philosophy emphasis on present performance and future goal.
(d) Profit sharing recognises mutual interest.

(e) MBO involves joint goal setting.

(f) People see what they expect to see.

. Define leadership. Explain the contingency approach to leadership style.
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Section II

Write short notes on (any four) :—
(a) Satisfaction — Performance relationship.
(b) Theft in Organization.
(¢) Work Moods.
(d) Employee turnover.
(e) Tardiness.
(f) Benefits of job satisfaction studies.

Explain the following statements (any four) :—
(a) Conlflicts occur due to differences in values.
(b) Conflict is often seen as destructive.
(¢) Win-lose outcome is not the most preferred outcome.

(d) Coercive power is the capacity to punish another person.

(e) Personality differences can cause conflict.
(f) Confrontation is the best way of resolving conflict.

Explain the following :—
(a) Difference between formal and informal organization.
(b) The potential outcomes of formal group process.

Explain the following terms (any four) :—
(a) Mechanistic Organization
(b) Project Manager
(c) Team building
(d) Process Consultation
(e) Social Loafing
(f) Self Managing team.

Explain the causes of stress. How can stress be managed ?

Con. 976 (b)-14.

[ TURN OVER

20

20

20

20

20



13 QP Code : AE-7136

(W3 wHiaR) |
(3 d9) [@mgur:goo
Qo : () TR U URA el
() uftear RurTge Sive @ 9 T VR Sode! @ o= e,
b

Ui e Hlvad @9 9 gET fAurTee Sive! i 7= diea.
(3) ud I BN IR uBFHa ferdt.
(¥) Sdlpsia o qof o7 affaar.

faramT ¢

. QG 3T T . (HUAE TR) Yo
(31) Heed gaqm! 3T
(§) =afea Rwar
(®) dqof et
(3) ford seftw g

(3) wurdt gfemE
(%) T sMfa®s IR,

. grelld fJym R 6 9P T i SR g1 (HodtE! 9R) | Re
(31) WNWUNRIER Huedd siftdea g g IHa el ,
(8) e ® wegir onf Rfdama.
(F) T UBAUTIN HToolydeds THTU Fxugrd] Sagaeddl ATe!.

(3 @ o erEa.

© (3) wedd ST SbaT Wid WEATAl URS OfTe.

(W) AT AT 9 dIC § all ST,

. vt et R Riei anfdr o RRT Rieeia wodieor 29 i e @Y. Ro

. Gl fRymr SRo . (Sodd 9 R) Ro
(%) Aumar IS HE SR,

() SRt R=er fbud wrer ga HRdw. |

(F) oMY qeaied s, IauF SrRGdr for wfasasee «aeR R ad.

(8) T faursH TeFT IR fed siedd.

(3) MBO U Ifes 09 fAfRadt srid.

() AP a9 T9dd & AT A& 3.

[ TURN OVER
Con. 976 (b)-14.



Lo

14

. Aqcarht e =@ Aqca et sacs SRBI W &,

famT R

. fm dur foreT (Svrame! 9R)
(31) |HTY HRGd! GaY.
(§) ¥gedqg anl.
(%) Hrfasd.
(8) HHARY Tesdl.
(3) fffTom
(B) SRTHYN Sr™ YA

. G@dd AU e o, (Sivdre! 9R)
(31) HOmed URS SedTe wuy fHmfor gard.
(¥) Tu fJuras oMdl o wdar faud.
(B) Rieo-w0 wid 3 Taifie 38la Biad Fd.

(8) ot qaT TEUS quRiAT & FHRUGTE! YR &,

(3) cuferafimage Uy i 8% uHard.
(%) gER o g1 guy fefyugrr gataw arf s,

(91 sFETe enfYr situaTiR® dueAdia W
(3) shuaie T uihddt ga Bidd.

. Grelld I TE . (Hore! IR)
(3r) Mechanistic F&eT
(¥) WHed HaTUTID
() =g wivoft
(8) wftsar ggr™Iad
(3) Iwfvie emcssqon
() Tagafd 99,

. qUIETE} HROY TUT B, dUNG TGEYTIT HA §1S dhd ?

Con. 976 (b)-14.

. QP Code

: AE-7136

o

Ro



